0,

FACToRSING ALGERRAC ExPreifions TRANS I PT

Wkak 1‘3 —F‘«_L‘\‘B/;anj ?

C«%;;Aef ord(nu‘} hum54/5

A = 2x3

Ay = Ix5

2.0 = 2 * 10
or 20 = 2 x2x§

Helﬁj hu».\‘ls-r_/‘j 6’ )T)’ZO ars e 6{\-.‘3 wn‘\‘:é‘(-—\ a | e
Produc(’ of thev -(«(,"DIS) tL bt 18 Ehels Lacboss m\_,lb,'/gl(c,,/

{:ocye"ch.

Ih a\sekr«) f«ch;[szuj i« the o,o(.w_‘ui-e o perabicn

ED QXPAnAint' lomd(e,bsi

E*Pa-ﬂofini 3 ()L“"Z) - 31“"6
Fk(,“’bf!:“hﬁ {x +6 = 3(:@ -0»2,3
Eﬁ()am/h'-\j P(‘L") et Pﬁ’ —Pr

1

F«J—w}smﬁ P1 - P(

plq-r)

We \u\cvx{'—r'\ﬁj -@«L-(-ors Commbn é’b ea.chw Eerm anrd {N"
them o the Lrankb. We €hen Lorm a bracke€ tp

rebuild the af\ot)ind expreffiom,



@

FAcTof$ G RLGEGRRAIC EXPRESSIOMNS TRANSCLPT
E xamples
) 4 +66 = 2(2+2¢)
2) 3+ 2y —*3(14-35
3 %p-t = 2(4p-3)
4) lop+155, = §(2p+3q)
y 415 +3x = 3x(29+1)
é) X'-Sx = x(x-5)
) ey = qyep)
8 parprpe = plg tpar)
4) 222 = P (x-2)
) parrere = qr(pre)
i) IShk T -10hk = Shk(k-2)

h.) Ee® + pt'l tP(P-t—t)

Y
L




